Section 3 Session 10

1 Double 6 is 1 Double 10 is
2 Double 10'is 2 ‘;‘ of 8 is
L Jofthis What is
k Half of 18 is 3 g of 242 .

5 Shadea quarter. B o quaiter of 2lee

= 5 three-quarters of 2k?

6 25 divided by 5 equals

7 5 =10
q x5 =35 '-

: : ;
Shade three-quarters. B 6 x = 60

c g ANSWER

What is

1 double 8?

2  one-third of 30?

- 7 Shade one-third. 32 5 multiplied by 77?

L 80 divided by 8?

5 8 multiplied by 5?

6 5 of 16?

7  one-third of 157

: & ?

B 122 i 8 three-quarters of 16:

q 4O = 5 o -9 10 times 8p? p
o 5. 10 How much is half of
I8 6 x5 e 8 times 5p? P

38




